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Exercice 0.1 ⋆ Pas de titre

Soit f :

{

R
3 −→ R

6

(x, y, z) 7−→ (x, 0, y, 0, z, 0)

1. Prouver que f est linéaire.

2. Déterminer le noyau de f .

3. Déterminer l’image de f .

Solution :

1. Facile.

2. Soit (x, y, z) ∈ R
3. On a : (x, y, z) ∈ Ker f ⇐⇒ f (x, y, z) = 0 ⇐⇒ (x, 0, y, 0, z, 0) =

(0, 0, 0, 0, 0, 0)⇐⇒ (x, y, z) = (0, 0, 0) donc Ker f = {(0, 0, 0)} et f est injective.

3. Im f =
{

f (x, y, z) | (x, y, z) ∈ R
3
}

=
{

(x, 0, y, 0, z, 0) | (x, y, z) ∈ R
3
}

= R × {0} × R ×
{0} × R× {0}.
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